Order of ope rationNs  Please Excuse My Dear Aunt Sally

P = parenthesis
E = exponents

M = multiplication
D = Division

A = addition

S = subfraction

Example:  5(8 +22)+ 4-32
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Example:  2x + (3x)2— BX2+2X =X
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Scientific Notation:

Scientific notation involves writing a number in the form of

ax 10", where 1 < a<10.

Example: 700

Why is 700 written as 7 ¥ 182 in Scientific Notation ?

=3 700 =7 %100

#3 and 100 = 102 (see powers of 10)
=% 50700 =7 % 102

Both 700 and 7 % 182 have the same value, just shown in different ways.

Example: 4,900,000,000

1,000,600,000 = 107,

50 4,900,000,000 = 4.8 x 167 in Scientific Notation -

More examples:

Number in decimal

Number in scientific notation

1,230,000

1.23x10°

.22 E b

0.0098723

9.823x 1073
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12,300,000,000

172
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0.000009123

9.123x 107°
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Problems on order of operations and scientific notation (unit 2.4)

. 2-12+2 I 84(6-3
1. The expression ~ 5 is equal to - ‘ 5. The expression —————— is closest to:
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8. Extra Credit: The expression
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9. When expressed in scientific notadon 150,000 is: k-

20084 13. When expressed in decimal, 3.2x 107 is
A) 1.5% 107 15 x 1"@% (A) 32,000,000
1.5% 10° ®) 0.0000000032 ’
©) 0.15x 107 © 32.000000
D) 15% 10° @ 000000032
®) 0.15 % 10° : ® 328
10. When expressed in scientific notation 0.000506 14. What is the product of 5, 330 000 and
is: 4 6,045‘%’!10’% 022x10"  cale s [ 172 E a
A) 506x 107 (A) 11.726
B) 506x 10° B) 1,172,600
© 5.06 x 10* 7o)y  L1726x10™
@ 5.06x 107 \Eﬁ 1.1726 x 107
E) 50.6x 107 ) 1.1726 x 10
11};’%1% is the product of 1,350,000 and 2,300,000? 15, iyt <1.2 % 107 ) +<3.2 2 103)
@ ek 10:12 Cale W ) 00375 Cavehd!
] MOBxI0E 3 h - ®) 0375 mé@ — el
© 3:65x 107 © 3.75 % 107 7
©) 3'6/5X - 3.75 % 10°°
& 2756 3.75 % 107
12. When expressed in decimal, 6.2 x 10° is ]
- — @% { 16. The quandty (9.1x 10°)’is e?m'va;em to:
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D) 6.2000000000 © 6.2 % 16"
®) 6,200,000 ) 6.24 x 10%

@ 6.24 x 10%
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